Bitspower’

R AA

ERASUS STRIX-GTX980TI-DC3(0C)-6GD5-GAMING R R & &t

VWEPO®O®E

BP-N980TIAS_RGB
LED#Z (B A £ #RLED RGB##1E )
1 MMEz R

EE4E 1Eﬁ§f¢7ﬁﬁﬂ‘éﬁﬁ$é:ﬁ
BEREMEREGRE -
iy 25
R  mass
EEE IS4k  M2.5x10 MM 4 2%
8 M2.5x6 MM 2%
E RSz 28 ® BB 2f8

Installation Guide

Designed for ASUS STRIX-GTX980TI-DC3(0C)-6GD5-GAMING

VEO®O®®O

BP-N980TIAS_RGB
LED (Applicable LED RGB motherboard slot.)
1 MM THERMAL PAD

Spare parts incomplete
application of this product.

Hard sponge Please dominated by actual
product accessories.
Original Backplane
9 P [ Spare Screws |
Spring Screw [ m2.5x10 MM scREW 2 PCS
[ M2.5x6 MM SCREW 2 PCS
Support ©® SCREW 2 pPcs

LR AA

ZHASUS STRIX-GTX980TI-DC3(0C)-6GD5-GAMING R+Figit

®
@
®
@
®
®
@

BP-N980TIAS_RGB
LEDXT (&R EH4RLED RGB##1E )

1 ERSRRR

TEi54m EREHARERIER
B &R B RERRGERE -
L =]
. [ &=34
IR 0 M2sxiomskegy 2%
M2.5x 6 ZKiEL 2%
R X3 g iy PN




Bitspower’

EmBREsESNIEERERUE Applying The Thermal PAD And Thermal Paste On Correct Positions. RIMSHREMIERNRAUE

BEEREME Using Appropriate Amount Of Thermal Paste. EEEASRH
] 1 MmEsaA ] 1 MM THERMAL PAD [ 1 =ksARRA
[] =s [] Hard sponge ] =as

RAASHERREEENUE L - EFMEEH - BEKRMERT - 1 Before fill in water, please make sure all the component /N - BKAT - IESERINTASHERRELERNUE L - ERFEN - EFKRIERT -
- BRERKEREBRAIN - BRRERKMEREHBHER - be installed correctly , avoiding leaking happen and destroy the PC component. 4NEFEIERKINE - BRIRERKEREBFEN - B8R RERKMS B EMBEHAIRE -

V7/5thR



